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Economics
Paper II

AL
gyueRt 11

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

TOAT @ A1 TRAUCThG THY TR (100) TgEE WEA fool ofed. Yo TRe & (2)

U7 STRd. T WYY Wi

................. are financial

intermediaries that pool the

resources of many small investors by

selling them shares and using the

proceeds to buy securities.

(A) Derivatives

(B) Insurance

(C) Mutual funds

(D) Provident funds

Which of the statements gives an

accurate picture of the effect of the

increase in the repo rate ?

(A) The money supply in the
country will decrease

(B) The money supply in the
country will increase

(C) The money supply in the
country will increase initially
and then decrease

(D) There is no effect on the money

supply in the country

............... ¥ TP HeAwel 3Ted 1 3Tk
AR T[AAVEhERE YaTH faed et
FRIETS BREl SwvaErdl fHesrele
THEE] A9 hE i GEEE ThA
HIAT

(A) SRz

(B) fom

(C) H[=3d ®e

(D) wiosy fafe fef

SRV faem 01 gUtel aer=an g

gk a3 39 2
(A) 2T U= qeeEl S eEe
(B) 39 Hemen qREel aned

(C) TNITE = RISl gEamien died

sTfon o HE Bred

(D) M Fed YRaedrel ShivTdre]

oM 8| AR

[P.T.O.



Capital market deals in lending and

borrowing of .................
(A) Short term credit
(B) Medium term credit
(C) Long term credit

(D) Both medium term credit and

long-term credit

Which of the following services, is

not provided by the capital market ?

(A) Provision of Underwriting
facilities

(B) Participation in equity market

(C) Expert advice on management
of investment in industrial

securities

(D) Capital tax calculation and

consultancy based on that

First step in the field of mutual fund
industry happened with the setup
Of eeeeiieens by Government of India

and the Reserve Bank.
(A) LIC
(B) GIC
(C) UTI
(D) IDBI
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T =7 st <o) a7ty
HSl HUI SegR Shidl
(A) i = wfee

(B) H&AH Hed shiee
(C) HehTeAe shige

(D) TEAH TR Shiee ST STefehTel
wice el

TETEleTteh! IV Jal Tedet aTeR e

T ?
(A) TeRmEfen glag= e

(B) il Ahensd HWEum

(C) 3irEfiTer faegREsrefiet Jaerpent=

FIEATIAR. a7 Hoedl <dld

(D) HTESTet ST TUAET S0 S=Ae Said

Heedl

~

BT The SUNT=AT &TdTel diee] qehe]
YR TR A figreg iy -
T el

(A) TSI
(B) SitetrE
(C) It
(D) SIS




Which of the following is not
included in the supply of money

measure ?
(A) Inter-bank deposits

(B) Demand deposits with financial
institutions on a net basis

(C) Currency and coins are
available to the general
population

(D) Deposits with the Reserve Bank
of India (RBI) in addition to the
above

Covered interest parity theorem

takes coveevieeannn, into account.

(A) Spot and forward rates plus

interest rates in two countries

(B) Spot and forward rates plus call

money rate

(C) Forward rate and call money

rate

(D) Spot rate and interest rates in

two countries
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Yo QIESATA WTCHeTieh] hIvTeH]

M= §Hee TRl ?

(A) - &

(B) feoes sTuReR et weaime Amof
Ezll

(C) I 2ATfor A9 HEHTHTEIS]
ITAR] 3R

(D) ada =Afafie uds fees o
(RBI) 94 o4l

Wi = " gEy g e
feemra .

(A) Tz o wige <X e <[

SIS AL

(B) wfe offor witge <X f¥rema oo
3 Yy

(C) ®ReE e ffor AFT 28 Yoy
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[P.T.O.



(1) India adopted LERMS in 1992.

(1) In 1993, dual exchange rate
system was replaced by a
unified floating exchange rate
in India.

Identify the correct statements :

(A) Statement (i) is correct, (i) is
incorrect

(B) Statement (i) is incorrect, (i7) is
correct

(C) Statements (i) and (i7) both are
correct

(D) Statements (i) and (i7) both are

incorrect

Devaluation of the domestic

currency will help to eliminate the
trade deficit, if goods are ............. in

nature.
(A) Less elastic

(B) More elastic

(C) Completely inelastic

(D) Less inelastic

APR - 11224/T1—D

(@) 1992 #&d «xa LERMS =1
SIS hel.

(i) 1993 A&¥ WRAW Tadl fatE X
TOUTEAT T2 Uehlehd qlalaTHa &l

(a e O |

faY ~ LN
AVl HAIAda encdl fledl.

Iy fagum sleEn .
A) faum ) I/, (i) EFg TR
(B) faum (i) e=@rg e (i) 99 3

a N

(C) faum (i) snfor (i) SFar I 31

-~

(D) faem (i) =M (i7) ST 3T 3T

ST =M STEHed AR 2 gL

FLIH HSd Hiel, S TR

EEIA] S
(A) =Hl waras
(B) Afush wafweh
(C) quiqul sTaafeeh

D) HH I




10. British Bankers Association comes

11.

12.

up with the benchmark rates for all
different securities of different
maturities. It is commonly known

AS eeeeeeeeeeeeeaaaeees .
(A) Mumbai Interbank offered rate
(B)

(C)

London Interbank offered rate

Securities Exchange offered

rate
(D) Covered Interest offered rate

Which of the following is not
included in the current account of

the Balance of Payment ?

(A) Insurance Payment

(B) Govt. not elsewhere considered
(C) Transfers

(D) Bank’s overseas deposits

Different prices of any homogenous
commodity in two different markets,

leads to ........c.........
(A) Speculation
(B) Hedging

(C) Arbitrage

(D) Dumping

10.

11.

12.
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TS SRe STHIITE SRTeTesdT HRd =
e o= el s SuEiel A,

(A) g e AH T

(B) weq St JATHT <X
(C) @ TS 3L <X

(D) Hwe AN AP T

WUk v I § SHIgRAAT]
e W HHIfas B ARl ?

A) fam <=

pay
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(C) T=aL
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ThHHM SR SaTee fehwdl
ETCRLIGH

(A) ULI/3FHD
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13.

14.

@

(i1)

(A)
(B)
(®)
(D)

Offer curve incorporates
elements of both demand and
supply.

The offer curve of a nation can
be derived from the nation’s
production frontier, its
indifference map and various
hypothetical relative commodity
prices at which trade could take
place.

Both the statements are true
(2) is true (i1) is false

(2) is false and (ii) is true

Both the statements are false

Match the following :

(@)
)
(c)
(d)
@
@i1)
(i)
@)

(A)
(B)
()
(D)

Inter-industry trade
Intra-industry trade
Product life cycle

Factor price equalization
Vernon

Samuelson

Acquired comparative advantage
Different factor endowment
(@ ®) @ @@

(v) Qi) @) @)

@ @) Guv) @GD)

@ @ @ @)

@) @) @ @G

13.

14.
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(i) AR ok AETf A0 qLaa 1 Sl

Sehel THEY il

({i) TEET SR AT T (T3 oral

9% ) SIMAT SUES Wi,

SeTHIAaT AmIIn oAty fafaw
FIIF AU TR hAdaEA

ﬁ-loda cAlel e[4IR gl(’n Rlendl.
(A) T faum sleR o1
(B) (i) == (i1) 9% 38
(C) () = oM (i) SRR 3T
(D) 3 faem w1 oTed

Sre e
(@) ATR-IN R
(b) STHMIT SHMIR

(¢) I Sla=sh
(d) = ToHd HHMIR
@) =&
(1) HHerEd
(i) THesaIe qoTIcdsh hIER]
(v) fr = <orh

(@ @) @ @)
A Gv) i) @@ @)
B) @ G Gv @)
C) @) @ @) (o)
D) @ G @ @)




15.

16.

17.

International Economic Theory

examines :

(A) The reasons for and the effects
of trade policy and trade

restrictions

(B)

The basis for and the gains from

trade
©)
(D)

Only (B)
Both (A) and (B)

In Autarky, a nation’s production

possibility frontier is also its :
(A) Opportunity cost

(B) Exchange option/frontier
(C) Consumption frontier

(D) Revenue frontier

Converting your local financial
assets into foreign financial assets
and vice-versa at the market

determined exchange rate is .........
(A) Reserve Account

(B) American Depository Receipts
(ADRs)

(C) Capital Account Convertibility

(D) Current Account Convertibility

15.

16.

17.
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AT e fagia € ausdi—

(A) =R GRor enfor s el
IO ST oMy

(B) U= SR 37T %
(C) wd (B)

D) (A) T (B) Tr=i

se TfTawdd I SR Il

(A) = fopea
(B) fafr#a
(C) U9 G
(D) Hegel

O T SAITE AR SR
faeeht enféer wemma enfon @se,
g reifa fafma <9 =1,

(A) TEE @
(B) =i feuiferedl deen
(C) 9iead @d gRaEd- e

(D) =Te] @d g
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18. Which of the following are the

19.

limitations of head count index of
measurement of poverty ?

(@) It doesn’t take into account the
intensity of poverty

(z1) It doesn’t indicate how poor the
poor are

(zi1) It doesn’t estimate poverty by
individuals but by households

(A)
(B)
()
(D)

Only ()

Both (i7) and (ii7)

Only (Gv)

(@), (1) and (iii)

If the production function exhibits
decreasing returns to scale in the

steady state, an increase in the rate

of population would lead to :

(A) Growth in total output and

growth in output per worker

(B) Growth in total output but no

growth in output per worker

(C) Growth in total output but a

decrease in output per worker
(D) No growth in total output or in

output per worker
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18. qeiad®t wivrdr faum  feremord

19.

e wAiel gEada 2
@) o TR SR e geiet T8l

o~ ) La b Y

[ehdl YIR™ ol

(i) 7 e e oeh

OSHTY &g T8l
(iii) & TRsme SHRIET FHed 8 Theh
U SIRGA= HISMHY .

(A) e (7)

(B) =T (1) =M (iii)

(C) ®H (iv)

D) @), (@) 3o (i)

S 3G et Hed AT S¥ad ST

T dAEeda a6 qerd g

RIEE

THU IARA 0 TEE A
A a6

ThHU SARAT A d@ Ty Siels
fHeh SR deET 19T

(A)

(B)

(C) TR IARATA @ Ty Siels

ATHF ISARATA =2

THU IR A0 SIS HTHE
SR ale=] 319™

(D)
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20.

21.

Which of the following options is
correct when we only accomplish two
out of three pillars of sustainable

development ?

(A)

Economic + Environmental

Sustainability = Viable

(B) Social + Environmental

Sustainability = Bearable
©)

Social + Economic

Sustainability = Equitable

(D) Political + Economic

Sustainability = Workable

Which of the following theories are
associated with the dependency

theory ?

() Development of under-

development
(z1) World-systems theory
(@i1) Critical minimum effort
(tv) Theory of unequal exchange
(A) Only (i) and (ii7)
(B) Only (), (i) and (i)
(C) Only (@), (G1) and (Gv)
(D) Only (ii), (ii) and (iv)

20.

21.
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L5 3 n

BEE

e g INad O] &l

e HedHa JEIeIsh! Il ThRH]

uftfeerdt fefor 2a ?
(A) R + TATERT IMYead = =Iaer

(B) QMo + T31eR0 yeddl = TgT4H

(C) |THIRSTR + AT SMYadd] = oM

(D) TSI + SR SMYerdl = FHIuie

JEICTUshl hIUN THGTT STaeiferar fagTaren
Tt oTed 2

() Ffaerfaaa=n famme

(i) <TfoR-sewen fagid

() o e gTe

(iv) s fafamn faga
(A) ®= () &0 (i)

(B) ® (1), (i1) 0 (i)
(C) % (@), (i) 3 (v)

(D) W (i0), (iii) A0 (v)
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22. The output elasticity of labour is :

23.

(A) equal to one at the level of
output where average product

i1s at a maximum

(B) the percentage change in labour
required to produce one more

unit of output

(C) equal to the ratio of total
product to the quantity of

labour employed

(D) a measure of the percentage
change in output that can result
when the quantity of labour is
changing

If the investment rate of an economy
is 24%, capital-output ratio is 4 and
the growth rate of population is 1.5%,
what would be the growth rate of

per capita income ?
(A) 4.5%
(B) 5.5%
(C) 6.5%

D) 3.5%

APR - 11224/T1—D

22. AT IAGT Tdigehdl

(A) T 3TUEA HewH Al Tk
Tael 379d

(B) SEATd dT@ HivIETS! STH e
AN Shel a1

(C) & wafashdr THD SR f0
giferTan SR A= TUiRRIEe!
T

(D) SeUTATAIA T&hel ded AT

~ ¥ b A L
ATHRT=HT ASITRIART ofgel i

T 2

23. W AdTTEI AU X 24% I,

TETA-IURA TUITR 4 AR M0

ARTE gael 1.5% 38, W Tk

S PALE N M e B
(A) 4.5%
(B) 55%
(C) 6.5%

D) 3.5%
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24.

25.

According to Adam Smith, there is

a mutual dependence between

(A)

division of labour and the

extent/size of the market

(B) invisible hand and business

cycles

(&)

capital accumulation and

general price level

(D) division of labour and industrial

integration
What is Palma ratio ?

(A) Share of richest 1% population
in GNI/Share of poorest 99%
population in GNI

(B) Share of richest 10% population
in GNI/Share of poorest 10%

population in GNI

(C) Share of richest 1% population
in GNI/Share of poorest 10%

population in GNI

(D) Share of richest 10% population
in GNI/Share of poorest 40%

population in GNI

25.
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(A) #MEISH T FERE SRR

(B) 31G¥4 B AT SAIR <sh

(C) wiead HeiehLu S =T fohAd
el

(D) gufgursa anfor fafirs

TR TTcHh [hL0]

el TR S ®E ?

(A) ¥l U Ia=rdia AfasfiHd 1%
AlREEIAT AT/ A UL
g STATE 99% eieheea
I
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grel

T T STt stfasfted 10%
GIEREC I ICiVE S R |
ST SIS 40% TehEEs

g1l

(B)

(D)
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26.

27.

In case of Schumpeter’s model of
economic growth, which of the

following statements is true ?

(A) The

ultimately reaches stationary

capitalist economy

state

(B) The profit rate tends to become
equal to zero at the end of the

development process

(C) Cyclical swings are the cost of
economic development under
capitalism

(D) The process

development is not a cyclical

of economic

process but is a structural

process

According to Harrod, a technical

change is neutral if ................ .

(A) MPy/MPy, = capital-labour
ratio
(B) at a constant rate of profit,

capital-output ratio also

remains constant
©)
D)

it is labour or capital saving

MPy/MP; = wage rate-interest

rate ratio

26.

27.

APR - 11224/T1—D

yfter e enfde gE wfoHER,
eIttt HIv faum A9 e ?

(A) TiSTael refegasen AfqHa:

Trerereen/feudieier sfa=en Ted

(B) faerrwfsha=an Teel T ST I

O] Wl 3T

(C) T TE-3d1 B MSTeIEmee
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(D) efeer Torermam=t wiwan = T

TUEATHS 319
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. . 28. 2019 HEI WClcTUh! RV SHhe b
28. Which of the following banks were
S SEieMHE faferIeRTor Sh{vamd ael ?
merged with Bank of Baroda in
2019 ? () FTET e oAk gfea
(i) Union Bank of India (i) 1 ek
(@1) Dena Bank (iii) Sfeom
(i11) Indian Bank & "
ii7) Indian Ban i) .
(fv) Vijaya Bank
(A) (&) =t (i)
(A) (@) and (i7)
(B) (i7) =T (id1)
(B) (@@i) and (iiz)
(C) (i) i (jv)
(C) (i) and (iv)
(D) () and (i) D) () s Giii)
29. Kisan Credit Card Scheme was 29. [FRIT eig ke AL T AR
introduced by : e .
(A) &mE
(A) NABARD
(B) wia Re= o
(B) Reserve Bank of India
(C) W8Il el
(C) Co-operative Banks
(D) wefere AT Sfeh
(D) Regional Rural Banks
15 [P.T.O.



30.

31.

Which Article in the Constitution of
India deals with the Annual

Financial Statement ?
(A) Article 111
(B) Article 112
(C) Article 113
(D) Article 114

Which of the following are the main
objectives of Agriculture Census in
India ?

(@) To describe the structure and
characteristics of agriculture
sector

(i1) To provide benchmark data

upto village level

(zit) To provide statistical frame of

operational holding
(A) (@) and (ii) only
(B) (i) and (iii) only
(C) (i) and (iii) only

D) @), (i) and (ii7)

APR - 11224/T1—D

30. YA USTHEdlel A FHeTd o

e foaeomelt Tt oM ?
(A) wem 111
(B) =M 112
(C) o™ 113

(D) =¥ 114

31. WEAUH HITA YA FH T

e Sfesl fed ?

() O ST T A Afyrey A=
U

() a9 S qifedt Yer o

(iii) HTHTCHeR SRUESTE TR Tehe
TEH L0

(A) (@) 3Tfor (i) e
(B) (@) 37for (iii) el
(C) (i) 3o (i) e

D) @), (@) o (iii)
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32.

33.

What is the main objective of
Ayushman Bharat-Pradhan Mantri

Jan Arogya Yojana ?

(A) To provide financial protection
to poor and vulnerable families

for their health expenditure

(B) To promote the growth of the

healthcare industry

(C) To provide subsidies to private

hospitals

(D) To create a separate healthcare

system for the poor

India’s first ‘National Investment
and Manufacturing Zone’ is situated
in :

(A) Andhra Pradesh

(B) Gujarat

(C) Maharashtra

(D) Uttar Pradesh

32.

33.

APR - 11224/I1—D

ST qRA-FHFHT ST TR Frsi

& U FE AR 7

(A) TR amfor SREfer swmea T o=
SRFEEE SEe! e Ta
EHERETL

(B) AT ¥l SEM=Al e =l
30

(C) @ISl TOeEEl 3TeM <ul

(D) TRETEE T e e e
Exul

B i e S M S i e ol | )

FEgfTmte &5 YTt e T
qR ?

(A) STYTRT
(B) TS0
(C) TERI

D) SIS
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34. Square root rule is ................. .

35.

36.

26Y
C-=
(A) NS
26Y
c-20r
(B) N

c) C= ,Z_b
r

(D) C=,/—2bY
r

e-NAM scheme was started in which

of the following year ?

(A) 2014

(B) 2015

(C) 2016

(D) 2017

India’s Economic Freedom Index

score in the year 2023 was

(A) 61.2

(B) 52.9

(C) 51

(D) 53.3

35.

36.

20Y
C="Ak
(B) N

(C) C= 2
r

o c- 2%
r

APR - 11224/11—D

e-NAM ST Seliciiehl hIoTeal s

ge 9t ?
(A) 2014
(B) 2015
(C) 2016

(D) 2017

g6 2023 HEH ORGSR @

(A) 61.2

(B) 52.9

(C) 51

(D) 53.3
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37. Which of the following statements

38.

is false ?

(A)

(B)

(C)

(D)

MGNREGS is implemented

through an Act

MGNREGS provides some

reservation to women

The wage rate of Rs. 100 per

day is provided through

MGNREGS

MGNREGS does not provide

wage employment where
unskilled manual work is

involved

Which of the following is the correct

formula to calculate National Multi-

Dimensional Poverty Index in

India ?

(A) MPI = H*I
(B) MPI = H*A
(C) MPI = H*P
(D) MPI = P*A

APR - 11224/I1—D

37. WeAAUsh! I a6 TqE AR 2

38.

(A)

(B)

(&)

(D)

MGNREG ZSAT & HTIUER

BECIGISIN

L

MGNREG 351 & Afectide sl

o N
SIHIT <l oqd

MGNREG #iw=gR gdt feawm

T. 100 99 <X foem <l

MGNREG FISA1 3R I

~ .

EREEEUSRIES

3 oY a
S HB A=Al en[HIAIS]

T AT

@etietieh! ShivNT SgeTTETH SRee e
Ao a0 g5 el 7

(A)

(B)

(&)

(D)

MPI = H*I
MPI = H*A
MPI = H*P
MPI = P*A
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39.

40.

India’s market capitalisation in the

year 2023 was
(A) Half the GDP of India
(B) 10th largest in the world
(C) Nearby GDP of India

(D) 1/4th of the GDP of India

Which of the following statements

is true ?

(A) India had the largest road
network in the world in the year

2022

(B) India had the second largest

road network in the world in the

year 2022

(C) India had the largest railway

network in the world in the year

2022

(D) India had the second largest
railway network in the world in

the year 2022

39.

40.

APR - 11224/T1—D
T8 2023 T Y™ 9N 9iedd

....................

(B) SI@l 109 9aid His

(C) YRAT=Al @ QRTd  ScdIeAT=Al
SEC

(D) ARG ¥ S ST Teh
ELRIN

WeeTteh! ShId o sliek 318 ?

(A) o9 2022 T& YR T Ses

S g4 HiS Bl

(B) 9% 2022 HEd YRamHed T ST

ST §ER 94t Hio B

-

(C) 9% 2022 T YRAME oo™ s

ST gaid A\ B

N

(D) 99 2022 HA YRAME oo ST

ST §ER 9 Hie B
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41.

42.

As per Pollution Haven Hypothesis,
Multinational Companies that
choose to physically invest in foreign
countries, tend to (re)locate to the

countries with .......cc..cc........ )

(A) Greater availability of the
labour
(B) The lowest environmental

standards or weakest enforcement

(C) The highest environmental
standards or the most strict

enforcement

(D)

Lower availability of the labour

Environmental Economics involves

question of ...................

(A) Excessive production of
pollution by the market
(B) Insufficient protection of

natural world, due to market

failure

(C) Both of the above

(D) Only (A) is true

APR - 11224/I1—D

41. YEY B RCITIER TgUd Ul

42.

................

Tqe[eh oA qFg e
(A) HSRE eiferes SueTs

(B) Hdid s THER0E Heh fohal Haid

FHRIT AT

(C) Har=a 9Afeuig A fwar "o

= ‘ o
ol HHSS(AY]]

(D) FSEE HH TS

...................

oy DG BRI R

NN

U9ATal GHEY Bl

(A) STSNIGR Ygo0T=  AAfeh Sedre

(B) SISO Tafis
P L&
(C) =l <

(D) &K (A) U 38
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44.

45.

method puts direct

question to individuals to determine
how much they might willing to pay

for environmental resources.

(A) Contingent valuation method
(B) Travel cost method

(C) Hedonic pricing method

(D) Preventive
method

expenditure

How does the government intervene
in the supply and demand of demerit

goods ?
(A) By giving tax rebate

(B) By applying the sales tax on the
goods

(C) By increasing production
(D) By increasing consumption

As part of National Climate Change

Policy, Indian government is

planning to raise the installed
capacity of renewable energy by the
year 2030 to :

(A) 175 GW
(B) 200 GW
(C) 250 GW
(D) 350 GW

APR - 11224/T1—D

TogH 3.

(A) AR TR
(B) Werd &
(C) &I fohma

(D) gfaaars T

44. <N TR AETON M0 ST THR

45.

FHIMIFR TG Fld 2

(A) T 9Iad A

(B) @ T ShRIE
(C) 3T dreed
(D) 34T ST

T T Seel HROTEl 9 R,
TR TR 2030 TId 18T Serel

....................

T ST

(A) 175 GW
(B) 200 GW
(C) 250 GW

(D) 350 GW
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46.

47.

Significant factor pointing for

demographic dividend is

(A)

Low dependency ratio

(B) High dependency ratio

(&)

Medium dependency ratio

(D) High and medium dependency

ratio

Consider the following specific
stages of demographic transition
with

associated economic

development (2012) :

(1) Low birth rate with low death

rate

(2) High birth rate with high death

rate

(3) High birth rate with low death

rate

Select the correct order of the above

stages using the codes given below :
A) (1), 2), (3)
(B) (2), (1), (3)
(©) (@), (3), (1)
D) (3), (2), (1)

47.

APR - 11224/I1—D

....................

(B) S=4 3Tacfolcd YA

(C) HegH Aoifacd JH

(D) 3=a 3Mfol Heay Tacifee UM

aferer faswmEmeft (2012) Hefed

AR S HehHuT= Wieiiel fafyrs

T fo=mR &4

(1) HHt gL Mo AT gog <X

(2) =9 Hg TUHE I=9 SHSL

(3) HHI U TUHE I=d STGL

~

et |

ATl higE] AI e gl

T A HH Eer

A) (D), (2), 3)

(B) (2), (1), 3)

C) 2), 3), (1)

D) 3), (2), (D

23

[P.T.O.



48.

49.

50.

Which of the following is not the

mission under NAPCC ?
(A) National Solar Mission

(B) National Mission for Enhanced

Energy Efficiency
(C) National Mission on Air
(D) National Water Mission

state sex ratio was

favourable in 2011, there were 1084

females per 1000 males.
(A) Bihar

(B) Punjab

(C) Haryana

(D) Kerala

Harris Todaro model describes the

interrelationship between .............. .
(A) Growth and migration

(B) Unemployment and inflation
(C) Growth and unemployment

(D) Unemployment and migration

48.

49.

50.

APR - 11224/T1—D

Tl Tedeh! sh1oTd 31E NAPCC 27aiid
Iq AR ?

(A) TR OR AfEE

(B) dffm Toif wHATHAEET WS
SIERIE]

(C) T gal SAREH

(D) T S A

2011 HE hed

U 3T3he B, Ufd 1000 &SR
1084 Hfgel B

(A) TR
(B) U™
(C) @
(D) @

(A) ISt 0T TR

(B) SO YT =reene
(C) F&I o SRS
(D) SRS ST TR
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51. Match the following : 51. Siresn el :
Types of Goods
(1) Public Goods
(1) Hresifeh =g
(2) Club Goods
(3) Common Resources (2) ST S,
(4) Private Goods (3) WHEH FHIEA
Attributes 4) @ T
(z) Excludability and Rival
TuTerd

Consumption

g . : () afoaa anfor wfaege swefm
(z1) Excludability and Non-Rival

(i) afSaan e wiaereiferfed Sasm

Consumption

(lll) Non-Excludability and NOD- (lll) W%Iﬁ?ﬂ wmaﬁ_{%ﬁ e'q‘lﬂ'r[

Rival Consumption

(iv) Fafsraar i wfawaei Sasfm
(v) Non-Excludability and Rival

Consumption o @ @ @
o @ 6 @ A G) Gi) G Go)
N G G @G
(B @) G @ w) B) G) Gi) Gv) G
B) G) Gi) Gv) Gi)
©) Gid) Gi) Gv) G)
©) Gid) Gi) @) @)

D) Gv) G G Gi) @ @) @ @ @D
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52. Match the following :

Principles
(1) Equal Absolute Sacrifice
(2) Equal Proportional Sacrifice
(3) Equal Marginal Sacrifice

Formulas

dU(Y-T)
d(Y-T)

@) UY) — UY — T) same for all

i same for all

U -Ux-17m7
(773) UY) same for all
1 @ 3

A) @) @ O

B) @ O

(ii2)

©) @ O @

D) @) @) @

APR - 11224/11—D

52. Sedl ool

T

(1) TaE e <
(2) FHM FHURM
(3) EHEHEE TN

o

dU(Y-T) .
J(Y_T) T we

i

@) UY) — UY - T) garaES g9

UY)-UlXY-T) ;
(iii) 0y TEEEST THH
1O @ O

(A) @i) G) @)
B) @ @ @)

©) @) O @

D) @ G @
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53. According to recommendation of the
15th Finance Commission, various
criteria and their weightages are
suggested for horizontal devolution
amongst states. Match the following
criteria and weightages according

to it :
Criteria
(1) Population and Area (each)
(2) Forest and Ecology
(3) Income distance
(4) Tax and fiscal efforts
(5) Demographic performance
Weightages
@) 45%
@) 2.5%
@) 12.5%
(iv) 15%
() 10%

L @ B @ 5)
A @ @ G o) (ii1)
B) (v) @ @ @) (ii0)
C) @) @ @ G )
D) @ @ @) Gv) G

APR - 11224/T1—D
53. Terren faw SARENTEN RTRREHTER,

T A/ 3eed  BETalurEe!

fafay fere @ T oo aerd
- or T : .

qrEl Siedl el

Trerer
(1) <rree oo uRsT (W)
(2) F4 Ao qHfem

(3) IO X

(4) L AT TSREE TTH

(B

(5) THTETTIE: HHER

SIRED
@) 45%
@) 2.5%
@) 12.5%
() 15%
(v) 10%

o @ & @ 6
A @ O G @ G
B @ @ O @ G
© @) @ O @ ()

D @ O @ @ GG
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54.

55.

According to the budget estimates
of union budget 2023-24, the fiscal
deficit for the financial year
2023-24 is estimated to be

of GDP.
(A) 6.9%
(B) 6.5%
(C) 5.5%
D) 5.9%

According to Wiseman-Peacock
hypothesis, what is Displacement
Effect ?

(A) The movement of public
expenditure from unproductive

to productive level

(B) Change in the source of public

revenue

(C) Change in the structure of

public debt

(D) The movement of public
expenditure from old lower level

to new higher level

54.

55.

APR - 11224/T1—D

n

[

e 3TIHHTT 2023-24 =T IATFRTU

FeNER, fa<i™ a8 2023-24 =i

TSRS 2 TqE M Ieq=T=]

(A) 6.9%
(B) 6.5%
(C) 5.5%

D) 5.9%

STeSTHA-TUehieh THATTHR foreea gftomm

/S HE ?

(A) TR HHET UG FHED]

R CEIEC e

(B) ESeh Icq==A1 G BIom

EEN

(C) HESIeh hefr=al Td F9ed

(D) =1 THAH TeiaEd T Sed

qiacsieh e IeSiTeh SEid B0 ol
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56.

57.

58.

Integration of discretion and
automation into a hybrid form of

fiscal policy is called :
(A) Built in flexibility
(B) Formula flexibility
(C) Expansionary policy
(D) Contractionary policy

The zero base budgeting was first

adopted in :
(A) India
(B) Germany
(C) USA

(D) France

Which of the following is likely to
be the most inflationary in its

effects ?
(A) Repayment of public debt
(B) Repayment of internal debt

(C) Printing new currency to

finance the deficit

(D) Borrowing from the banks

56.

57.

58.

APR - 11224/I1—D

oy foxig grome Sevia fagsmfuftsa
farde ot amfor et foxia gfsman

(A) 3STaffeq =l

(B) A cAdiwehal

(C) To=rmass fo<da aro
(D) WHfad €GR

IENEIRG  SAfHEHeur=  AHATSA

FAYYH IO UG shedl Tedl ?
(A) ¥rd
(B) St
(C) ST

(D) ®rH

W] HITAT HHhT  qAIdT

TEMSd SAfeeh HOme. B 2

(A) TSR FeE Wahe

(B) 3Id7d el TWdhe

(C) Toxila g2 w&A FIRuarErdl Td <eH
BIq0l

(D) SEhEA st w0l
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59.

60.

61.

The idea of ‘democratic

decentralization’ in India was

popularized by :

(A) A.D. Gorwala Committee, 1951
(B) B.R. Mehta Committee, 1957
(C) Ashok Mehta Committee, 1978
(D) Kelkar Committee, 2004

Which of the following taxes is most

likely to be regressive ?

(A) Tax on inherited property
(B) Tax on income earned

(C) Corporate income tax

(D) Goods and Services Tax (GST)

Who among the following advocated
and active fiscal policy to reduce

unemployment ?

(A) The classical

(B) The Keynesian

(C) Both classical and Keynesian

(D) Monetarist

59.

60.

61.

APR - 11224/T1—D

oo

NSIETUERE)

Heuld vl YERE el ?

[aY

She L0l B TeheuqT WAl

(A) WEl. TRaTen |iFd, 1951
(B) =it.eT. WHear @ffdt, 1957
(C) 3felieh Heal |iHel, 1978
(D) =hoseh! HiHGI, 2004

eletdehl 10Tl Y B 2Afee ufeme
AR ?
(A) IRHRFRH T Guwieie %l

(B) TehwIfeld Scq=Taiel Y
(C) =T
(D) %] & &

TIATAdHRT HITH IV HH

FLAEGSTAT Wichd TSIRISIE  ERoT
TERR el ?

(A) AR

(B) el

(C) SrFet TRl 9 Sheaae]

(D) TEEmwR!
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62.

63.

Theory of Money Supply makes
money supply a function of ........... .
(z) High-powered Money (H)
(z1) Currency in Circulation
(zit) Credit Money

(tv) Currency Deposit Ratio (c)
(v) Time Deposit Ratio (t)

(vi) Reserve Deposit Ratio (r)
(A) @), (i) and (ii7)

(B) @), (1), (lv) and (vi)

(€ @), Gv) ()

D) @), Gv), (v) and (vi)

According to Okun’s law, 1 extra

point of unemployment costs

percent of GDP.
(A) 2%
(B) 6%
C) 1%

(D) 3%

APR - 11224/I1—D

62. Heme qrEearen H fagiamed demen

63.

(iv) =ed 39 TR (c)
(v) ¥4 <9 UK (t)

(vi) TEE oF TR (r)
(A) @), () 0 (i)

(B) @), (@ii), (v) AT (vi)
(©) @), () )

D) @), (), (v) = (vi)

I 3cae (GDP) @ &l
(A) 2 =Fh
(B) 6 T
(C) 1 zFh
(D) 3 Fh
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64. Match the following :

65.

Increase in Bank Rate

(@)
)

of Government

Securities by the Central Bank

Purchase

Reduction in CRR
SLR

()
(d)
(z) Can be used as a qualitative
measure

(i1) Increases the cost of credit
279)

(tv)

Induces more credit creation

Increases the availability of

money supply with the

commercial banks
(@ B @ (@
@) @ @ @)
B) @ @) GG G
(C) @) Gv) Gi) @
D) @) @) Gv) @

(A)

Principles of Supply-side Economics

focus on .....coeuneeennnns .

(A) Shifting AS curve to the right
(B) Shifting AD curve to the right
(C) Shifting AS curve to the left

(D) Shifting AD curve to the left

APR - 11224/T1—D

64. @rdld SISl Sesdl

65.

(@) &% T T@

(b) TEFAT Sehgl TR LA T
() U@ TEd TUlicRd Famd
(d) Surfer Trear JHm

() TUTHE SR WUE STadl A

(i) TauRT=Al fRuda e

(iii) 3Tfues gafafaer e

(jv) AR SRiheld UM ST
led

(@ b)) (@ (@
A) Gv) @ @) Gw)
B) @ G @ D)
C) @ Gv) G @)
D) @) @) G @)
qLAGATAT STS[eAl  HUUAIA dw
................... TR S

£ ™

(A) AS T TTEhE TIHIG0]

(e

(B) AD 9% IElhe TIhg0

(C) AS T EEIhe Glhidaul

o~

(D) AD 9% TEIHS TG
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66. The Baumol’s theory of transaction

demand for money is definitely an
improvement over the Keynesian

theory which states that

(A) The transaction demand for

money is interest elastic

(B) The transaction of demand for

money is interest inelastic

(C) The transaction of demand for

money is income inelastic
(D) The transaction of demand for

money is income and interest

elastic

APR - 11224/I1—D

66. STSHIGTEN TeTET FEER ¥qE WU

frgra & Tiveae = fagmaedi«

YR 3T S shworen Fogma o/ wfaanfea

(A) Y9 SRR Fq@EET TR €
S e SEd

(B) TRT= =EER Fq@EET "R €

S STeTaieeh 2T9d

(C) Tmm=h =EeR Bq@eEl AN €

30— 3Tdidgeh 39

(D) Yo SRR Fq@EEn TR €

IO M AT a3

67. Expansionary Monetary Policy ...... 67. TomUes oE W =T T
income level with ............... in | STfT Tedie s T
equilibrium rate of interest.

(A) =T, FH Rl
(A) increases, fall
(B) decreases, fall (B) FH B, T HH T
(C) increases, increase (C) dred, W el
(D) decreases, increase (D) HHt B, Tl
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68.

69.

70.

As per Output Method of measuring
National Income, value of output
produced by each firm equals ...... .
(A)
(B)
(C)

Total Sales

Total Wages

Total Sales + Change in
Inventories

(D) Total Inventories + Total
Inputs

Z, (P,t)x(Q;0)
Z,; (Ps0)x(Q;0)

x 100 is the

formula of .....ccevvvevvennnnnnn. .

(A) Paasche Price Index

(B) Laspeyre’s Price Index

(C) Consumer Price Index

(D) GDP Deflator

A balanced combination of safe and
risky assets relates to ................ .
(A) Keynes Liquidity Preference
Theory

(B) Tobin’s Portfolio Approach to
Demand for Money

(C) Baumol’s Inventory Theoretic
Approach

(D) Friedman’s Asset Demand for

Money

68.

69.

70.

APR - 11224/T1—D

T ST HISTUATAT SR THATTHT,

Uodeh SHAGTIHEY Seqifed el

(A) WU fashigds

(B) THUT Sd1Edeh
(C) WU forshl + SRGHISAIA FSeAEedeh
(D) THU TEIEE + THY AR

Z,(P,2)x(Qy0) o
Z, (P, 0)x(Q;0)

(D) YA <TG IR Hehlae
gfera amfor HTeTHare dqferd

TS & Gehe]

3R

(A) =1 e = fagm

(B) Siferten Temean ATl JeEIE
Hi=can

(C) SR Sgael i~ giesh

(D) frewT= l‘:I%Ilﬁf‘ll qrToii= HIeTH

<feewm
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71.

72.

73.

If consumption function is given by

C =200 + 0.75 Y, then the value

of multiplier will be
(A) 3

(B) 4

(C) 5

(D) 6

If all the elements in a set X are
in a set Y, but all the elements of
Y are not in X, then X is :

(A) Union set

(B) Power set

(C) Proper subset

(D) Empty set

If y is a function of x, find the

mathematical form from its inverse

function :

(A) y = flv)
B) y = 1w
© x = fly)
D) x = fy)

71.

72.

73.

APR - 11224/I1—D

99T e C = 200 + 0.75Y feor

AT, U o ©
A) 3
B) 4
C) 5
D) 6

ST HF X A §d uesh w9 Y 7
A, W 99 Y o Wd wed 99 X
el A, W 99 X § %

(A) g |

(B) WX @4

(C) WM 4=

(D) T w9

SRy ® x o oA o18d, T A=A

o rd TORE 9 &6l

(A) y = flv)
B) y = f @
© x = Xy
D) x = fly)
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74.

75.

Suppose the function you want to

maximise is given as

1
m(q) = qu -90¢ +300, Obtain q

that maximises n(q).
(A) 90
(B) 390
(C) 300
D) 210

Suppose demand for the oranges is

1
given by the function q¢ =9 - 5P

Find the differential coefficient ¢'(p).

o L
()2

B) L
B) 3
©) 4

D) 9

74.

75.

APR - 11224/11—D

% "euH FE fwed STHelel e

n(q) = %qz -909 +300 foeiel aTe.

n(q) WETH STHAT g el
(A) 90
(B) 390
(C) 300

(D) 210

THST G AN q=9—%p pi|
TagR feeft 3R, fashem o ¢'(p)

e,

A 1
(A) 5
B 1
(B) 5

C) 4

D) 9
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76.

7 2 3
Suppose matrix A = |4 8 1
5 12 4

is multiplied by the identity matrix.
What you will get ?

76.

APR - 11224/I1—D

7 2 3
TS 9RUT A = |4 8 1|=m
5 12 4

I WRUH [0l Tl i
fese 2

7 2 79
@ ¢ 8 W |4 8 1
5 12 4 5 12 4
1 0] 1 0]
® (O 10 ® |0 1 0
|10 0 1] 0 1
[0 0 0] 0 0 0
© |9 00 © |0 0 0
|10 0 0] 0 0 0
(7 4 5 74 5
o |2 8 12 o |2 8 12
13 1 4 3 1 4
77. Which one of the following is not the 77 et o e
test of adequacy of index number ? i A o
(A) Time Reversal Test (A) F@ STFH =
(B) Factor Reversal Test o
(B) ®Z& kA AT
(C) Circular Test
(C) =fsha =r=ft
(D) Bowley Test
(D) WMl =T
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78. Which of the following is true in case

79.

of geometric mean ?

@

@i1)

€219)

(A)
(B)
()

(D)

It is used to find the average
percent increase in sales,

production etc.

Used in construction of index

numbers

Most suitable when large
weights have to be given to
small item and small weights to

large items

Only (7) is true

Only (i) and (iii) are true
(), (i1) and (ii7) are false

(1), (@1) and (iii) are true

The empirical relationship between

mean, median and mode can be

expressed as follows :

(A)
(B)
(&)
(D)

Mode = 3 Median — 2 Mean
Mode = 2 Median — 3 Mean
Mode = 3 Median — 3 Mean
Mode = 6 Median — 5 Mean

APR - 11224/T1—D

78. YfHdT AIEATAT AT W erih! o

faam seR e ?

(@) 91 9 Tt Sc= sefe At

T fa9d o NevamEs! Bl

(i) TAdeTer IR SHITAEE SLe Sl

(i) Siegl Biedl wehien oIfasw oo
I HeaRTell HHl ARIH  SAE
AT dear fue SUFE STEal

(A) =de (i) T T

(B) =hefes (i) &AM (i) R

(C) (), (i) @i (iii) 9 SMea
(D) (), (i) S (i) SRR e

79. TS HIEH, HEA S0 Sgetsh A

STIEST oY WETIATe e T
Idl

(A) 9geTh = 3 W — 2 WA

(B) 9 = 2 W — 3 WA

(C) 9gesh = 3 Heam — 3 HieA

(D) 9T = 6 HEXM — 5 HIEY
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80.

81.

82.

If three dice are thrown once, then
there will be how many exhaustive

number of cases ?
(A) 18
(B) 108
(C) 216
(D) 72

Which of the following is not a non-

parametric sampling ?

(A) Judgmental sampling
(B) Convenience sampling
(C) Stratified sampling
(D) Quota sampling

Which of the following is not used

to test the stationarity ?

(A) Dickey-Fuller Test

(B) Autocorrelation Function Test
(C) Engle-Granger Test

(D) Phillips-Perron Test

80.

81.

82.

APR - 11224/I1—D

SR T T Therd Thehdl, T a9 fHeeom
gfegel aftory fRdt atedie 2

(A) 18
(B) 108
(C) 216

D) 72

WU RV TR T fee

Igdl A ?

(A) frofarers g fae

(B) W T fers

(C) wfen 7 frae

(D) =rer T Fae

feoa= = m=9vil SvEEl ETeteTde!

FHIUET A Al Sd A 2

(A) femi-|er =m=f

(B) & :HgHaY Thald =00

(C) TIA-U=R ==

(D) frfa-TA ==
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83.

84.

85.

For which of the following the 2SLS
method is most appropriate method
of estimation ?

(A) Under Identified Equation
(B) Exactly Identified Equation
(C) Exactly Unidentified Equation
(D) Over Identified Equation
Which of the formula is used for

testing significance of the sample

correlation coefficient ?

(A) t= rff_—rf
(B) t= rf;frf
©) t= f_;j’

IfY is dependent and X, and X3 are
independent variables, then rqg 4

measures the following :
(A)
(B)
©)

Correlation between Y and X,
Correlation between X, and Xg

Partial Correlation between Y
and X3

Partial Correlation between Y

and X2

(D)

83.

84.

85.

APR - 11224/T1—D

@ TedehnT ShIvTTEST 2SLS TgEd Fard
AT FETS UgHd I8 ?

(A) e1eq Afa HHieRT

(B) Tdma AT TR

(C) Tl AR HHTRToT

(D) srfastfora TR

THAT TEEA L TUNHTET AT
TAUAHIS! WEleush! vl I

= LY
M9 kel Sl 7

7‘\/;—2
t =
W t=—
r\/;+2
t =
B) =5
rn -3
t =
© t="—s
rn +2
t =
D) J1+r2
SRY ® Wad A X, 7 Xg # w6
el STHAE T ryg 5 § Tle = HISH
CGE

(A) Y stfor X, wefie wegey
(B) X, &M Xq Hefiet Hegay
(C) Y e7ftn Xy wefie siifers wewad
(D) Y st X, wefer onifvres wesed
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86.

87.

According to Ronald Coase, why do

firms exist ?

(A) They exist to specialize in

production

(B) They exist to make division of

labour feasible

(C) They exist to diversity the

production

(D) They exist to economize on

transaction costs
Why is the production possibility
curve concave ?

(A) There is a difference in the cost

of production of the two goods

(B) There is a difference in the price

of the two goods

(C) There is a difference in the

income of the two consumers

(D) Resources are not completely
adaptable to alternative uses
because of the specificity of the

resources

86.

87.

APR - 11224/11—D
UATeS higl a7=A1 Hd, STNTEE 6T

T 9d ?

(A) = A TaRIsieho SHIvamddl

ST 3T

(B) &1 HHTAWST I SIS

ST 3T

(C) =N WA fafaftestor wyvamge

ST 3T

(D) ™ FF8R T fhAE @Il

ST T

IS YERI] 95h STaaehTeh Rl 3AHl 2

(A) TH TR 3URT EEiHE Tl

Tl

(B) T o= ThAdHed W oTal

(C) T STNTEFETAT ST Hish Al
(D) FETEATE Afireaguias wETen
T amUHed quitn S[esqH

HTIERY 9
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88.

89.

Why does the marginal rate of
substitution of one good for another
diminish ?

(1) Satiability for a particular good

(i1) Goods are imperfect substitutes

of each other

(Z17) The income of the consumer is

fixed

(fv) Diminishing marginal utility of
goods

(A) Only (ii7)

(B) Only (@), (i) and (ii7)

(C) Only (@), (i1) and Gv)

(D) Only (i), (izi) and (iv)

In case of Giffen goods, the negative

income effect is

substitution effect.
(A) equal to

(B) greater than
(C) lower than

(D) the same as

88.

89.

APR - 11224/T1—D

TehT o Qa1 aE SFHeTen HiEw
Tl X el 7

G) faferse aeg=t e

(i) S WEEE Y T W
(i) U Soo fReR etHa
(jv) TG Tl G U

(A) ™ (iiD)

(B) ®HI (i), (i) 3T (1)

(C) we (i), (i7) M0 (iv)

(D) ®H (i7), (i22) AT (Gv)

fTh S&q=a aTeldid, SR0T Sca— iomH

(A) < 9AMH
(B) &l S
(C) Ul wHl

(D) IRETd
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90. If one person can be made better off | 90. SR FUR! SHe=A THTEM F2 7 Ll
without making any other person Teh] FFd=a1 GHIYFE 9@ gadl Iq
worse off, it is called ............... . A, W = 3 TBUE.
(A) Maximum social welfare e

(A) HETH HMEISTh ShedTo
(B) Pareto efficiency
: (B) W2 W/ T &l
(C) Pareto improvement
(D) Interpersonal comparison of (C) A o
utility (D) ST SR o
91. What is meant by economic cost? | g1 snfSe = =S T ?
A O tunit t of th 1f- ,\ .
(&) Opportunity cost o © 8¢ (A) AT = 3G Heahial HEiEd
owned factors ) .
9 5
(B) Accounting cost + Opportunity (B) é-@-[ﬁh_:[ e Sff?ﬁf&ﬁ Uff +r
cost of the self-owned factors SRRl Sl Sl S
(C) Explicit cost (C) 3 @
(D) Minimization of cost (D) fram ==

92. Which of the following statements | 92 Eeiieis! ®Iva fFum Fleer-feag
is/are true about the Kaldor-Hicks ﬁa;grm T e ?
criterion ? )

(i) oo M= T T Seiesi=a
() Hicks has given his criterion .~ -
_ _ gfiedhiFrA e o
from the losers’ point of view
(z1) Kaldor has given his criterion @) TSI SATHEAT TTRH S T
from the gainers’ point of view gl Isal MR
(A) Only (@) is true (A) HFe (1) T A8
(B) Only (i) is true (B) 9% (i) B 3
(C) Both (i) and (ii) are true
(C) (i) 3mfw (i) S8l B 3ed
(D) Neither (i) nor (i) is true .
(D) () fren (i) o =R AR
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93.

94.

Assume that there are two firms in
the industry. Firm I have to choose
among five strategies and Firm II
can react by adopting any one of six
open strategies. Similarly, both
firms have counter strategies. Thus,
find how many total payoffs will be
available for both the firms.

(A) 6

(B) 11

(C) 22

(D) 30

In what situation, profit maximises :

(A) When the difference between
total revenue and total cost is

highest

(B) When the difference between
total revenue and total cost is

lowest

(&)

When total revenue is less than

total cost

(D)

When total revenue and total

cost curve both are the same

93.

94.

APR - 11224/T1—D

HHST SEANIG G UGdT 3Aed. dfee
fadien o WY e S o
afor g e Wl Wedr oI den]
FHIVIIE! Teh Tlehre Hidishal S e,

LI

= AN, slgl

TSR 1! Yedias! Wehy fohaft oo

~

3T BlEd 2 o T

n

Teiehe Hfd Tom

Tt 37Ted.

(A) 6
B) 11
(C) 22

(D) 30

IOl R % Afeehdy sl ?

(A) SIegl THU YTET A0 WU
TEMYe Tk WAy STl

(B) W81 UHRIT UIwl ATfor T
T Wi Taid hHT Tl

(C) STo81 W1 UTil TehUT feReiuet shHt
ST

(D) STegT TR YT S0 U1 e ash

NN

Il

SHIA Sl
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95.

96.

Which of the following is shown by
the Grand Utility Possibility

Frontier ?

Select the correct answer from the
codes given below :
() The distribution of welfare

between individuals

(z1)) The Pareto-efficient outputs of
two products

(i11) Pareto-efficient allocation of
factors into two products

(tv) The Pareto-efficient outputs of

more than two products

(A) (@), (iii) and (iv)

(B) () and (ii) only

(C) (ii) and (iii) only

D) @), (i) and (@i7)

What is the reason to used

stockpilling policy by entrepreneur ?

(A) To decrease the cost of
production

(B) To increase the cost of
production

(C) To increase the consumer
surplus

(D) To increase the taxation

95.

96.

APR - 11224/I1—D

ETATIUeh! hIUd 9o STANTAT IRl

HH geifae Sid 2

Ere foetedn wenyd arg sw e .

() TR Feamre foaa

(i) T oaRE NE-HREH SR

(iii) S SCUGAHE SR TRel-hrEiaTH
q7<Y

() YT I THE RA-HEEH
BRI

(A) @), (D) 3 ()
(B) (i) =70 (ii) Fa®
(C) (i) oM (iii) e
(D) (@), (i) T (iii)

SEIISTRIER HTaT T EI0 SToXuT

FE HRU AR ?

(A) SURATE] &9 HH HIOIHEE!

(B) StUEq =9 defauaEs]

(C) TTEhI= HaATIeeR ST avameh i

(D) T AT IR
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98.

.............. refers to the action taken by

central bank of the country to cancel

the impact of its foreign exchange

market intervention on money

supply.

(A) Sterilization

(B) Capital outflow

(C) Acceleration

(D) Multiplier

The basket of goods included in the

GDP deflator includes ..................

(A) Only Domestically Produced
Goods

(B) Domestic Goods as well as

imported goods

(C) Only capital goods

(D) Only Consumer Goods

98.

APR - 11224/T1—D

ST GLeh I FeAd STSTRIAT SdargT=

5 JLEgIERIA UHE GE HUAIe!

ThHelcd] HRaETl Tgd 3T

(A) FeTercirad

(B) wiearl dfeais
(C) wem

(D) Uk

T TIMATNT SCTC TehIehTHE T

............

~

(A) Ho YA St

d sheledl a&]

(B) SRTIG o] TE ST shereal o

(C) Hae el e

(D) *de SUUTT a%]
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99.

100.

For narrow measure of money, which

of the following options is

incorrect ?

(A) Note in circulation

(B) Deposits of institution such as
UTI, IDBI, IFCI

(C) Cash reserves on hands with all
banks

(D) Deposits held by a bank in other
banks

What distinguishes a bank from a

non-bank financial institution ?

(A) Accepting time deposits as a
courtesy

(B) Accepting demand deposits

(C) Lending

(D) Accepting loans and borrowings

APR - 11224/I1—D

99. Yymem Tgfad ATIETS!, Wefterds]

FHIUE TIAE FRET AR ?

(A) ST e

(B) UTI, IDBI, IFCI 9R%&aT &=

Ezll

(C) 9d dehlhe 3eial U@ 9al

(D) W SO SIRMAE Saced ol

100. s amfor S foxa Txen Imed

TSI I AR 7

(A) O TeUF de IS TR
(B) =Wl el TRl
(C) & <

(D) st M Fsi TSRO

[P.T.O.



APR - 11224/T1—D

ROUGH WORK
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